
Time: 10 Minutes Paper Math 4 Total Marks: 10

5th  Month, 1st Week, 3rd Day Syllabus: Unit 5: Exercise No. 2  Q No. 4, 5, 6

Q.No.1 Encircle the correct answer from the following choices. (10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

Q.No.1.  Ahmed buys 140 cm ribbon to wrap the gift box. Convert the length

into millimetres::::  (2)

vvvv¢¢¢¢aaaagggg0000yyyyhhhh++++@@@@****ììììXXXXZZZZkkkkMMMMððððÃÃÃÃBBBB¢¢¢¢aaaaiiii~~~~ppppssss™™™™,,,,:::: 140 ZZZZ££££iiiigggg6666,,,,ÎÎÎÎääääÆÆÆÆaaaa  ::::1 ÎÎÎÎZZZZwwww����

Q.No.2.   The length of Ahmed's room is 5m 56cm and his sister's room is 4m

44cm. What will be the total length of both rooms:  (2)

vvvv¢¢¢¢aaaaììììXXXX 44¢¢¢¢aaaaÔÔÔÔ 4 vvvv¢¢¢¢aaaaììììXXXXZZZZkkkkÅÅÅÅÇÇÇÇÆÆÆÆ####}}}}ÅÅÅÅMMMMðððð 56¢¢¢¢aaaa 5 ZZZZ££££ÆÆÆÆ####}}}}ÅÅÅÅMMMMðððð  ::::1 ÎÎÎÎZZZZwwww����

ŠŠŠŠzzzzââââVVVV####zzzzVVVVÅÅÅÅÀÀÀÀMMMMðððð¥¥¥¥xxxx™™™™,,,,::::
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